

अखिल भारतीय आयुर्विज्ञान संस्थान, रायपुर (छत्तीसगढ़) All India Institute of Medical Sciences, Raipur (Chhattisgarh)

Tatibandh, GE Road, Raipur-492 099 (CG)

Phone No. 0771-2572930, e-mail: ee.civil@aiimsraipur.edu.in

NIQ No:34/EE/AIIMS/RPR/2019-20

Date:09-01-2020

NOTICE INVITING QUOTATION

Scaled percentage rate quotation is hereby invited by The Executive Engineer (Civil) on behalf of The Director, AIIMS Raipur from the eligible Contractors of CPWD, MES, BSNL, Chhattisgarh State PWD having relevant documents and bid should be submitted to office of Project Cell, Hospital Administrative Block, Gate No-1, AIIMS Raipur up to 12:00Noon on date:14-01-2020. The right to reject any or all the quotations without assigning any reasons thereof shall rest with undersigned. The quotations will be opened on the same day at 12:30 PM. As per detailed below:

S1	NAME OF WORK	EST. COST in	TIME
No		Rs.	
1	Civil and Electrical Maintentance works required for newly alloted quarter type 4 303 at AIIMS Residential Complex, Kabir		15 days
	Nagar, Raipur (C.G.)		

SCHEDULE OF QUANTITY

SI No	Description of items	Quantity	Unit	Rate	Amount
1	AS	PER ATTACHE	D SHEET		

Conditions:

- 1. The **percentage rates** are to be quoted in words and figures inclusive all taxes octroi, transportation etc. (Nothing to be paid extra on this account).
- Specifications to be followed for execution of work as per CPWD Specifications-2009 Vol-I & Vol-II and direction of the Engineer-In Charge.
- 3. The first and final bill payment will be done after completion of work as per specification.
- 4. Labour Law to be obeyed by the Agency.
- 5. Certificate of Registration for GST, Contractors' registration should be attached with Quotation and duly seal & sign on each documents.
- 6. **Time allowed for the completion of the work is 15 days**. It will be reckoned from the day award of the work.
- 7. The bidder shall be responsible for arranging and maintaining at his own cost all materials, tools & plants, water, electricity access, facilities for workers and all other services required for executing the work.
- 8. The Contractor shall remove from site all rubbish and debris generated by the Works and keep Works clean and tidy.
- 9. All damages done to the building during execution of work shall be the responsibility of the contractor and the same will be made good immediately at his own cost to the satisfaction of the Engineer-in-Charge. Any expenditure incurred by the department in

- this condition shall be recovered from the contractor and decision of the Engineer-in-Charge about recovery shall be final.
- 10. Bidders are suggested to visit the site with Junior Engineer(C) Er. Ayush Vyas before participating in the quotation.
- 11. Signing of Application/bid:
- a) If the bidder is an individual, the application/bid shall be signed by him above his full type written name and current address.
- b) If the bidder is a proprietary firm, the application/bid shall be signed by the proprietor above his full type written name and the full name of his firm with its current address.
- c) If the bidder is a firm in partnership, the application/bid shall be signed by all the partners of the firm above their full type written names and current addresses, or, alternatively, by a partner holding power of attorney for the firm. In the later case a certified copy of the power of attorney should accompany the application. In both cases a certified copy of the partnership deed and current address of all the partners of the firm should accompany the application.
- d) If the bidder is a limited company or a corporation, the application/bid shall be signed by a duly authorized person holding power of attorney for signing the application accompanied by a copy of the power of attorney. The bidder should also furnish a copy of the Memorandum of Articles of Association duly attested by a Public Notary.

Executive Engineer (C) AIIMS Raipur (C.G.)

for kind information please

for kind information please

Copy to:

- 1. The Director, AIIMS Raipur-
- 2. The Deputy Director (Admin), AIIMS Raipur -
- 3. The Accounts Officer-I, Project Cell, AIIMS Raipur-
- for information. 4. The Junior Engineer (C)-Er. Ayush Vyas, AIIMS Raipur. -Preparation of Market Rate Justification, Rate analysis and measurement sheet before opening of NIQ.

Schedule of Quantity

Name of Work: Civil and Electrical Maintentance works required for newly alloted quarter type 4 303 at AIIMS Residential Complex, Kabir Nagar, Raipur (C.G.)

l.no	Particular	Qty	Unit	Rate	Amount
Α	Subhead: Civil Works				
A 1	Providing and fixing 18 mm thick gang saw cut, mirror polished, premoulded and prepolished, machine cut for kitchen platforms, vanity counters, window sills, facias and similar locations of required size, approved shade, colour and texture laid over 20 mm thick base cement mortar 1:4 (1 cement : 4 coarse sand), joints treated with white cement, mixed with matching pigment, epoxy touch ups, including rubbing, curing, moulding and polishing to edges to give high gloss finish etc. complete at all levels.				
1.1	Granite of any colour and shade				
1.1.1	Area of slab upto 0.50 sqm	0.60	sqm	4217.35	2530.41
	Providing and fixing chromium plated brass curtain rod having wall thickness of 1.25mm with two chromium plated brass brackets fixed with C.P. brass screws and PVC sleeves etc., wherever necessary complete:				
	25 mm dia	19.50	metre	480.15	9362.93
	Providing and fixing aluminium sliding door bolts, ISI marked anodised (anodic coating not less than grade AC 10 as per IS: 1868), transparent or dyed to required colour or shade, with nuts and screws etc. complete:				3.
	300x16 mm	3.00	each	257.15	771.45
	Providing and fixing aluminium tower bolts, ISI marked, anodised (anodic coating not less than grade AC 10 as per IS: 1868) transparent or dyed to required colour or shade, with necessary screws etc. complete:		Cacil	257.25	,,1.73
	200x10 mm	5.00	each	90.00	450.00
	Providing and fixing aluminium handles, ISI marked, anodised (anodic coating not less than grade AC 10 as per IS: 1868) transparent or dyed to required colour or shade, with necessary screws etc. complete.				

125 mm	4.00	each	59.65	238.60
Providing and fixing aluminium hanging floor door stopper, ISI marked, anodised (anodic coating not less than grade AC 10 as per IS: 1868) transparent or dyed to required colour and shade, with necessary screws				
etc. complete.				
	7.00	oach	62.05	434.35
Twin rubber stopper Grouting the joints of flooring tiles having joints of 3 mm width, using epoxy grout mix of 0.70 kg of organic coated filler of desired shade (0.10 kg of hardener and 0.20 kg of resin per kg), including filling / grouting and finishing complete as per direction of Engineer-in-charge.	7.00	each	62.05	434.33
Size of Tile 300x300 mm	15.00	sqm	378.91	5683.65
Varnishing with varnish of approved brand and manufacture :				
Two or more coats glue sizing with spar varnish or an under coat of flatting varnish	5.25	sqm	183.25	962.06
Providing and applying white cement based putty of average thickness 1 mm, of approved brand and manufacturer, over the plastered wall surface to prepare the surface even and smooth complete.	32.00	sqm	115.15	3684.80
Distempering with 1st quality acrylic distemper, having VOC (Volatile Organic Compound) content less than 50 grams/ litre, of approved brand and manufacture, including applying additional coats wherever required, to achieve even shade and colour.	Chan			
Tura santa	322.00	sqm	81.90	26371.80
Two coats				
Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade:				

	Providing & fixing White vitreous china water closet squatting pan (Indian type) along with "S" or "P" trap including dismantling of old WC seat and "S" or "P" trap at site complete with all operations including all necessary materials, labour and disposal of dismantled material i/c malba, all complete as per the direction of Engineer-in charge.				
	Orissa pattern W.C Pan of size 580x440	1.00	each	3537.80	3537.80
	Providing and fixing white vitreous china pedestal type water closet (European type W.C. pan) with seat and lid, 10 litre low level white P.V.C. flushing cistern, including flush pipe, with manually controlled device (handle lever), conforming to IS: 7231, with all fittings and fixtures complete, including cutting and making good the walls and floors wherever required:				
	W.C. pan with ISI marked white solid plastic seat and lid	1.00	each	5260.95	5260.95
n	Providing and fixing PTMT towel rail complete with brackets fixed to wooden cleats with CP brass screws with concealed fittings arrangement of approved quality and colour.				
	450 mm long towel rail with total length of 495 mm, 78 mm wide and effective height of 88 mm, weighing not less than 170 gms	2.00	each	555.35	1110.70
	Providing and fixing C.P. brass shower rose with 15 or 20 mm inlet:				
	100 mm diameter Providing and fixing C.P. brass long nose bib cock of approved quality conforming to IS standards and weighing not less than 810 gms.	2.00	each	151.90	303.80
	15 mm nominal bore	2.00	each	618.80	1237.60
	Providing and fixing PTMT soap Dish Holder having length of 138mm, breadth 102mm, height of 75mm with concealed fitting arrangements, weighing not less than 106 gms.		each	130.50	261.00

	Providing and fixing glazing in aluminium door, window, ventilator shutters and partitions etc. with EPDM rubber / neoprene gasket etc. complete as per the architectural drawings and the directions of engineer-in-charge (Cost of aluminium snap beading shall be paid in basic item):				
	With float glass panes of 4.0 mm thickness (weight not less than 10 kg/ sqm)	1.00	sqm	999.60	999.60
В	Subhead: Electrical Works				
1	Supply of switch 5-6 Amp	12	each	75.00	900.00
2	Supply of Switch 15-16 Amp	12	each	75.00	900.00
3	Supply of Socket 5-6 Amp	8	each	80.00	640.00
4	Supply of Socket 15-16 Amp	8	each	80.00	640.00
5	Supply of Ceiling Fan 1200 mm sweep	5	each	1800.00	9000.00
6	Supply of 6 Module plate	4	each	150.00	600.00
	In Figure				
Percentage Rate Quoted by the Agency	In Words				
Name of Agency:	and the late	b in the	वी		
Address Details:					
Contact no:					
Valid email id:					